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Which of the following statements is correct about the LED? (A)it is
used as a general-purpose indicator (B)it is ideal for use as a voltage
regulator (C)a reverse-biased is used for normal operation
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The region in a P-N junction diode where no free charge carriers exist
is known as the: (A)collector (B)depletion region (C)enhancement
region
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In a PNP transistor, conventional current will flow when. (A)the
emitter is more positive than the base. (B)the base is more positive
than the emitter. (C)the collector is more positive than the emitter.
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In normal operation of a bipolar junction transistor the: (A)base-
emitter junction is forward biased and the collector-base junction is
reverse biased (B)base-emitter junction is reverse biased and the
collector-base junction is forward biased (C)both junctions are forward
biased
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What kind of components can be integrated in integrated circuits?
(A)resistors, capacitors and transistors (B)transistors and coils only
(C)relays and switches
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What is the expected voltage change at the output C, when the voltage
at the base changes from 0V to 1VV? (A) The voltage will change from




0V to 10V. (B) The voltage will stay at 10V. (C) The voltage will
change from 10V to OV.
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7(0048292) What special type of diode is capable of both amplification and
oscillation? (A) Point contact diodes. (B) Zener diode (C) light-
emitting diode
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8(0048006) The resistance measured using an AVO between the Collector and
Emitter of a transistor is. (A) low resistance looking into Collector and
high resistance looking into Emitter. (B) high resistance looking both
ways. (C) low resistance looking into Emitter and high resistance
looking into Collector.
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9(0048094) A decoupling capacitor in a PCB is used to (A) minimise transient

currents. (B) pass DC only. (C) pass high-frequency noise.
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10(0048165)

Increasing velocity feedback from optimum will give (A) faster
performance (B) sluggish performance (C) no change on the output
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11(0048010)

In a transistor, the arrow always points in the direction of. (A) electron
flow. (B) conventional current. (C) emitter.
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What are the two stable operating conditions of an SCR? (A)
Conducting and nonconducting. (B) Oscillating and quiescent. (C)
Forward conducting and reverse conducting.
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13(0048288)

Structurally, what are the two main categories of semiconductor
diodes? (A) Junction and point contact. (B) Forward and reverse (C)
Polar and non-polar
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14(0048147)

What type of gate is an OR gate with both inverted inputs and inverted
outputs? (A) NAND gate (B) NOR gate (C) AND gate
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The circuit in the picture is a(n) ... (A) comparator (B) inverter (C)
adder
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16(0048150) The rotor of an autosyn position indicating system is (A) a permanent
magnet (B) spring controlled (C) an electromagnet
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17(0026928) The circuit in the picture is a(n)... (A) inverter (B) adder (C) integrator
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18(0026923) In general, when operating frequency gets higher, the gain of an OP-
amplifier will be .... (A) higher. (B) lower. (C) sometimes higher and
sometimes lower.
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19(0048064) What is the gate in the picture? (A) NAND gate. (B) NOR gate. (C)
AND gate.
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20(0026918) How is the conduction of a bipolar transistor established? (A) By

minority carriers injected into the base region. (B) By majority carriers
injected into the base region. (C) By minority carriers injected into the
collector region.
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21(0047927)

The electrodes of an SCR are (A) gate, cathode, anode (B) source,
drain, gate (C) anode, cathode, source.
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